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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

The question paper is divided into two sections.

Attempt five questions in all, selecting three questions
from Section A and two questions from Section B.
All questions carry equal marks.
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but the same medium should be used throughout the

paper.
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’ W production possibility frontier using these two
sE @ fog Fdw

resource constraints. Calculate the production
1 2| Y- & fem 8§ FW fr v FAiRa = w s point where economy fully utilizes both the

g TR | resources.

2. U% WET TF a N ¥ qer W e | (ii) In case the capital in the economy increases

NPT Spm——_— %@amﬁwwaﬂ% to 8000, what is the new point of production
; % ! . 3 here the resources are fully utilized?
# ' ¥ wsft v B 3 g R %
TY el 9T T H I )
s @ ¥ aforg, Afe
4. TEYTT-TF HI I o B ot e s (b) How do dynamic increasing returns and learning
TR I 6 AEEH TH B B MY |

curve strengthen the case for protection? (5)

e AT 2 |
5. EURYT RerRAc A o (¢) A laptop sells in the world market for $ 1000 and

the parts out of which the laptop is made sells for
§$ 600. Suppose the country imposes 10% tariff on

AR —-H laptops and 20% tariff on the parts, what is the
SECTION - A effective rate of protection for the laptop
producers? 5)
i ider an economy that produces ‘ :
o B SSEZ:bne parts and cloth using capital (K) (%) (i) v U srfaraedr W R Wy KUl Tait (K) 3R
and labour (L). Unit factor requirements are M (L) =1 I78F e AeEEa & T 3R
given as ay, =6, a,,=2, ayc=4 a,c=4, HAS T I Bl B | THE AT HIIaHa

where ay; is the number of units of factor i aea =6, a,=2, a =4, a.=4, ® WA

i T 2, W a, ] W TE T w I T
that the economy is endowed with 6000 units i

. ﬁ . .
of capital and 4000 units of labor. In case of & fog W | N e TEEAl i HE ?
no factor substitution, derive the economy’s W W fF @' srfemEear 6000 R

required to produce one unit of j. Assume
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4000 THTE M q GO 2 | AL SwfreTT &
it 27 AR G SRS P T 3@ e
F IeUET AT 9 Y ety i | S8
S fig @ T W Wl sefeERn AR
FeEmeEl w1 QU ST w2

(i) aR =@ srfaraen ¥ I 8000 THE TH A
T 2, & Ieure w1 98 A4 g enn Sl
T & Ul SUART B © 7

wfte afest wRwer 3R SR aw wem A &
TE W DA AT H B 7

favg 9oR ¥ vE duel & Ha $1000 B AR B
T ¥ RAUTT T S B IR A § 600 T 1 A
AR fF v Jw A9 W 10% T T F AR
@wzo%wm%éﬁqm%‘m
T A TR | T BN

2. (a) Explain with the help of diagram as to how

economic integration can lead to both winners and
losers among firms in the same industry if firms

differ in terms of their performance? (5)
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(b) Can international borrowing and lending be

viewed as a kind of international trade of present

consumption for future consumption? Discuss with

the help of diagrams? What is the relative price at

which the intertemporal trade takes place?

(4,1)
(c) Write short notes on:
(i) Leontief paradox
(ii) Immiserizing growth (5)

(%)

()

3T & Wee ¥ WAl f& sni¥e e A
FSqreT &Rt el 9 9l U ST o fohe WeR |
Wit T 9l 3R B IoM a9l WAl Sl 9d el
£7

T HWE W W IUR & oF o & A &
ITRT B g SEHE ST O A AR & w9
A Jar o wEHA B 7 IN@ A WET ¥ T w7
qF ANE e 1 B o W Sehiors @R g € 7

Hgﬁ“q'f’!ﬂﬁﬂ%':
(i) forsirdim fvmma
(ii) weet w3fe

PO,
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3. (a) Home has 100 units of labour and Foreign has 200

units of labour. The unit labour requirements for

the production of X and Y at Home is 2 and 5

respectively. In Foreign, it is 1 and 4 respectively.

Both the economies have the same tastes and

preferences given by the utility function : U(X,Y) =

X04Y06 Assuming constant opportunity costs with

labour as the only factor of production, attempt

the following questions :

@

(ii)

(iii)

(iv)

)

Construct the production possibility frontier

of Home and Foreign

Between which relative prices (PX/Py)
would there be complete specialisation?
What would the relative quantity produced
when both economies have complete

specialisation?

Plot the relative demand curve and relative
supply curve. What is the equilibrium

relative price?
Is there full specialization in this case?

Take the case of Home and explain the

concept of gains from trade?
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(vi) Due to some exogenous reason the labour
in Foreign declines to 100, does the same
pattern of specialisation continue as
before? (1,1:3:3:2.2)

(b) “An export subsidy unambiguously leads to costs
that exceed its benefits.” Discuss the same with

the help of a neatly labeled diagram. 3)

(%) wRw ¥ %@ N 100 FHE T R G H 5 AT 200
THEA T TR W g X IR 9 Y & IARA &
T ot 9w S SaTdehar AT 2 3R 5 B | WeW
¥, g8 HAM 1 IR 4 T 1| I FIEEnst ¥ vE wwH
e I e B W fR SwEia wem U(XY) =
X04y6 gra Ry g & 1 %W IeH w1 UHAE A
3R feor sraet wn e, i g & IR
I H W W

(i) wRW 3R TR D I A TR
|

(i) forer ader el (PYPY) & @ Ot fafirdieo
B ? A sreaenal § gt fafiedewor e w
AN IR I AET T BN 7

PILO:
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(iii) T AT A IR W R aw o S
TR K W AT AT BN 7

(ii) If Indus allows for free trade and P =4 on
world market assuming no transportation

cost, how many watches will it import?

(iv) = 5@ Rafr ¥ wof Rftediemor 2 7

(iii) If Indus decides to levy a unit tariff of
1/- on every watch imported, resulting in

(v) ®w & woof ¥ =R ¥ o o srumen =)

world price falling to 3.5, calculate net

I welfare gain and loss.
(vi) 7Rt a1 svRo ¥ wRw ¥ s w @ B 100 B (iv) If marginal social benefit accruing from the
S 2, w Rt @ def a9 aw‘m increase in production, due to the tariff
2 , imposed, is given by 100 - Q, calculate
et - . : .
total social benefit. How does it compare
against the production distortion losses?
(@) “v= fafe wfad goes: o 3 e Rt ¥ afy (1,1,4,3)
TR B T FH T A o B T e @ Haldn . |
(b) Silicon inc and Chang Inc are firms based in
T @R = Wy

Kennedyland and Sinoland respectively, capable
of making artificial intelligence solutions, with

4, Silicon Inc having a initial head start and committing

(a) Suppose the market demand and supply for

watches in Indus are given as itself to produce Al solutions. The payoffs of the

firms are given as below :

Q,=70-10P

Q, =10P - 30

(i) Calculate the equilibrium price and quantity

for watches in Indus under autarky.

Chang Inc

Produce | Doesn’t produce

Silicon Inc | Doesn’t produce | (0,1000) | (0,0)

Produce (-50,-50) | (1000,0)

5 il oM
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(i) Would Chang Inc. produce? Discuss. 3

(i) What would happen in case the government
in Sinoland extends production subsidy of

100 to Chang Inc, in case they enter the

11

market? Use Brander-Spencer analysis to B 7

discuss the same. (6)

(iv) af Searew ¥ gfe ¥ IerT A AT
100 — Q BN Rar AT & A Y T Fqeh B
FHRO Yo B a1 Rl AT @ St IO
T | TR o e ARIUT B & wwe A

(@) Silicon Inc 3 Chang Inc, PAdE 3R Rects ¥

(F) ¥ <A < 3o ¥ wRdl @& fg o 9 W sk

FAT G ¥, S FET v e e ¥ v 2, o

I 5@ wER 2 & Silicon Inc ¥ RN Tod W @ 3N TE FHA F=
| | e T D e wiee 21w W weR R R
Q,=70-40P SIS
Q, =10 P - 30
Chang Inc

(i) s srefofer = Rufy ¥ Tea % wRay &

fow wma o 3R wEr 9 o e I Y | JATeT 7 P

JAGA DL | (-50,-50) | (1000,0)

(ii) af <58 79w =R & f sl W 2 ok .(

o A st Silicon Inc | ST A ®X | (0,1000) | (0,0)

- TR g

§Q 9oy f g8 oot ufdt =1 s e ?

(iii) ol gsa smfoe W 4G W 1/- @ Wy TS
T T T hEe heal 8, e aRumresy
fawg % S 3.5 & W 2, & wE wew ™
R B & T AR

(i) @1 Chang Inc. JTE Ham ? == & |

(i) 3% Rufy =71 g 5 fels WHR Chang Inc.
T 100 H IR wES @ T P ww
Chang Inc. SR ¥ W 8 ot 8 7 siet- &
frowor &1 W@ Fa g9 fawewer &=

PO,
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‘\ 5. (a) A country has two industries: pharmaceuticals and
the automobile. The output of pharmaceutical
industry (P) is produced using capital (K) and
medical personnel (M) and that of automobile
industry (A) is produced using capital (K) and
engineers (E). If there is an increase in the relative
price of automobile, what will its impact be on
‘ income distribution among factors of production.

Explain using diagrams. (10)

1l (b) Discuss the domestic market failure argument

1 against free trade. (5)

| (%) T& ow ¥ & I ¥ wEiREREE 3K SicHEEd |
wHiERES o (P) W oIERA § (K) sk
ffer wffAl (M) &1 s o ok siemres
SAT (A) FER (K) SRR (E) w1 3w
Hﬂ%%mm%mﬁaﬁﬁaﬁa%mﬁawﬁg%
B W B, A ST @ WA B 99 o & e
W FEH T YN BRN 7 IR@ w1 ITENT TS
“ T |

(@) o =R & faers we SR Rwed a9 w ot
|
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AR -
Section B

6. (a) Write a short note on expenditure changing and

expenditure switching policies. Diagrammatically
illustrate as to what combination of such policies
could be pursued to get an economy from the zone
of discomfort of unemployment and excessive
current account deficit back to simultaneous

internal and external balance. (5)

(b) How do speculators attacking currency lead to

balance of payments crisis and collapse of fixed
exchange rate regime? How far government is

responsible for such a crisis? : (10)

(@) =@ TRadT R =g seeE AA | v Al e

Y | R B0 T @ UE feERd &l S
IR el W @l W a gl e A 4
siaRaE 3R Al e @ Rafy ¥ afm ¥ o @
R =7 AR @ fre w@w & W B snoasd
27

(@) W@ | RN g} g Qe ¥ A Ager qhe

3k for Rfm = =Een o1 9aT Sy 8 W 8 ¢
M TWE B GFC ® F wer fran feer 27

P.T.O,
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(a) “If an economy starts at long run equilibriurri, a

o

14

permanent change in fiscal policy has no net effect

on the output while a temporary fiscal change

alters the output”. Discuss in context of DD —AA

model assuming floating exchange rates. Use

diagrams. 9)

() ®

(i)

Write a short note on Interest Parity
Condition. The interest rate on rupee deposit
is 7% and on dollar deposits 2%. Assuming
that the expected Rupee/ dollar exchange
rate is Rs. 70/$ after an year. What will be
the present rupee/dollar exchange rate?

If interest rate doubles on dollar deposits
what will the new exchange rate that brings
in equal return on both the deposits? (Assume
expected exchange rate to remain at
Rs. 70 per dollar). Illustrate with the help of
diagram. (6)

(&) “afe va srefeaed Q@S Gge & T6 ot 8, @
ToreRdig g A IRadT 1 IART W A 1€
IAET ¥ deed &< ol 7 |7 IRadsie fafe o
& v g 99 - vy wioww & Wi ¥ == | sm@
H WART &Y |
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(@) (i) = T w g de R R |
S W AW W 7% B AR IR WA W 29
2198 W w B ovw 9 D 9w wenfm
Toar/3er. e w® 70/$ B | I9AE wwar/
Ber fafwma = == o ?

(i) @l SR o1 | = w® NER B TR 2 @
7 fafrm @ B W AR we B v
W WER A dW 7 (A o fF wele
fafma = 70 T oY IR | @R R) | e
H Ao ¥ TAAT |

(a) ‘Even as the central bank sells domestic assets to
sterilize the purchase of foreign assets, the

currency may depreciate.” Explain using a diagram.

(b) Using a DD-AA-XX diagram, compare and
contrast the effects of monetary expansion
(temporary and monetary) on current account.

(8,7)

(F) T e @@ N B wwar 2 o DN % A
wRéRA % e A Pl B Ry e o

S R, IRE T ITENT D GHAG |
P.T.O.
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